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QUESTION 1

At which level can logging be set in a CDD file?
A. Processing Unit

B. Agent

C. Cluster

D. Deployment Unit

Correct Answer: A

QUESTION 2

In BEMM, which utility is required to deploy TIBCO BusinessEvents to machines specified in a topology file?
A. SSH

B. Microsoft Windows PsTools

C. TIBCO Hawk

D. JMX

Correct Answer: A

QUESTION 3

Which two statements about channels are true? (Choose two.)

A. A channel can contain many destinations.

B. A destination can contain many channels.

C. All destinations for a channel use the same server connection.

D. All destinations for a channel must use different server connections.

Correct Answer: AC

QUESTION 4
Which two statements are true about transitions in a State Model? (Choose two.)
A. A Lambda transition moves the State Model to the next state (or its entry action).

B. A transition can connect a state to itself.
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C. Concurrent states can optionally use boundary transitions.
D. There can be multiple outbound transitions but only one inbound transition.

Correct Answer: AB

QUESTION 5

Which two statements are true about Query agents? (Choose two.)
A. Query agents can have channels and destinations.

B. Query agents can execute rule functions but not rules.

C. Query agents can execute rules, not rule functions.

D. Query agents can have channels, not destinations.

Correct Answer:. AB
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